
Проверка сложения. 
            2 класс



20+40=60

80-30=50

25+30=55

73-20=53

99-10=89

55+40=95



«!»- без ошибок

«-»-2 и > ошибок 

«+»- 1 ошибка

Проверим!

36, 21, 62, 10, 27, 26, 90, 84, 20,30



Тема урока:

Проверка сложения

9 + 5 = 14



Из суммы вычту одно 
из слагаемых

получилось 
другое 

слагаемое
?

да нет

Сложение 
выполнено 

верно !

Сложение 
выполнено не 

верно!

МОЛОДЕЦ! Ищу 
ошибку!

Алгоритм проверки сложения 
начало



37+7 <38+8 
     44<46

28-6    > 28-10
    22   > 18

№ 6 с.85



Работа в парах

    

25+10= 35

    -10=35 25

35- =1025

16+6= 22

22 -   =616

22 - 6  = 16




